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Peter is 52 inches tall. Kathy is  3 inches taller than Peter. Susan is 5 inches shorter than 
Kathy. By how many inches Peter is taller than Susan?

❖ Answer:

Peter is ____ inches taller than Susan.

Annie collects baseball cards. She has 25 cards in her collection. She gave 3 cards to her 
brother and bought 6 new cards. How many cards she has in all now?

❖ Answer:

Annie has ____ cards now.

Travis read 15 pages today. Juan read 30 more pages than Travis. Mike read twice as much 
as Travis. How many pages they rad together?

❖ Answer:

Travis, Juan and Mike read _____ pages together.


